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3. YIEARIERARYE IR

Xt % A R, BEHR TR B AR, PR T A LS TR R A, S TR A A, LA S
— R W SCAL Y SR S A R A5 R TE A A B BT
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4. ERIFHAILDETIE

— 3R U, MR R RS IR B B B A, T AR R IR B0 B O o, O BRIE R R K B AR T
ol AN [ 4 D8] 32 9 < W L 9 (A BRI SR B

TR — R SCE M 32 KR, TSR G A0 T R 5 U L A R B R IR ER Y
158 & TR T im0y B BAE RO 48 SCRE N IR R A I B ) & L, BEZ % IR R
FH AN RO 7 25 5 NS TSR X SRR R MR RO AR PRI AT 4R th A © AR A WAL, E
75K PV B 152 R O 85

W) 3o R o R A R LR BRI 0 i PR U S 4 3, B SR O KR
« iR 5 U 6 1 TR ) T RBTE AR — 0 TR B R S0 X R sk R
R FTLE VRISV B 7 B3 P8R WA RE R X i R 4R R R SR IR R, B
Biliggie, s b, BERERE N IR TEE,

5. 2R F B E N
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(1) Dl Y1), B A 5K

(2) PR, SRR, BT EAE 10—12 S04 P 58 iR — R SCEE A 9 1) AL, D) ik B el B2
I B 1), 17 A R 408 S B o B SR IBURS (/) 7 v, R R AR R EREXM EEMARE, &
T B PN 6 1A 40, R T 28 W4 B Sk R R /) F B o S5 W B0 A R T DA I e Bkt
P BT SR ) vk A T 5 S BRI B 7 3

(3) PIEEEE &, B — 28 . MR SCRE MR AR B RN P 2%, T X A 2R i R 7 9k B AN [
AAELEE MR R

(4) B4, B oe B2 5 450 A TR %A SCRRBE— i | 13X B R3S R
BB AR SHESHE T —ENT M, TSR E R, RN s — SR B A
ROER.

A AT A, AR v R B TG R AR T R T — R SR B B AR S TR SRR
FEF RN 1 AN SR R AE AL

= BRI A R
FRAE K AIBESR | DR EERAR A B OB 3 B T
1.t E FEE

e 2 S0 76 AR B0 TR SR Y [
BERAER:
. What is the subject of this passage?
. Which of the following best reflects the main idea of the passage?
. What is the best title for this passage?
. What is the main topic for this passage?
. Which of the following statements best summarizes this passage?

. What is the main point the author makes in the passage?

g O AW N -

. With what topic is the passage primarily concerned?
HEAEK:

. The best title of this passage is

. The central idea of this passage is

. This article is mainly about .

. This passage discusses o
. This passage mainly deals with
. The passage was written to explain

. The title that best expresses the ideas of the passage is

. The author’s purpose in writing this passage is

O 0 N O bk W=

. The best summary of the passage is :



10. Choose the title that best expresses the ideas of the passage

11. The proper subject of this article is

FRCs T2 R B R 7 I Jee A i B AR AR JLEFE!ZTM‘%EE'J X O o 3
YR X SCEE Y AU O BT B 0, R A AR s T SO Y R G R T H A
7E Be) B2 72 P o DR A RL SR | RS L H AR AT RE T

FE B BERBE R SCEEA SCE I 0 BAR, BeVR A BOVE A b B BT A A R R A R
BEXH B AR SCEE IR R B9, A AR BT X I — Bk 4R SR A, (]2 3 RS Y i) L ) 6 R B S
HERR R ) SCE 1Y 32 8 ) B B ¥ 19 32 ] (Topic Sentence) , B — M & SC R Bk BE V& A0 1 A kR
A AR SCE R L B SR B E AR, RAEE X A C B R K A O SR Y 52 TH 9 M
5, BERRCER OB, BB ER SR B E A,

2. JAE LR

fE—R X E R MEH BRZESN 26— R Gl A HE R X4 B C Mg SO £8, Z4
X X 26 BRI 92, A 48 BIE | 32 B S SR ORI T AR SRR TE AL {6 AR TR 2 L i SO EE
By BAR X260 H i A B who, what, where, when, why, how 2§ 2 [W] 18] 55| &, 4 .
1. Which of the following statements is (not) true?
. Which of the following best supports the idea of the passage?
. Which of the following is (not) included in the article?
. Which of the following is (not) mentioned in the article?
. It is suggested in the passage that
. The author states all of the items listed below except that
. What is the purpose of ?

0 N O L A W N

. What is the meaning of ?

Xt i 2 A B, 40 SCEE o A SRR AR R T DA PR BIE R
(B 4 S 1) 0 PP R 2 B BRI SCRE e SRS, T T 4 o ek P ) SCAR) AR (] Y 2 ik O Kk
iR, % A A5 5 5 48 ) AL, (] B 2 D) 0P« B2 7 I O 1 AR E R , B RS TR 36
i S G A, 4082 ) TR AN R 30, R SE 2 TR I BRI A OO0 T AR e %

3. FEME R

7E B S A R | 4 R R 3R AR — R E B LA | X SR AR AR A AR B
FEAR Fo i BAAE 17 S 5017 B0 F %5 A RS A — 2 iRl B s R i th Al 3, EEM EFOARFR
s MmN R E F . R E e iR R T A

1. By the author means

2. Which of the following is closest in meaning to ?

3. According to the author, the word means

4. The word most probably means

5. The word/phrase refers to



6. By the word the author intends to render the idea that

7. The word can best be replaced by
8. From the passage, we can infer that the word is
9. Which is the probable definition of the word 7
10. The phrase _in the passage suggests .
e A, AT R i ) A R SR SOR AR i, — BRI SRA3 §E AS
S S P2 B BRAR , T DA 22 U0 SR 9 S A SR () B, £ B R R T R A
T SCER R R R A X, (B AT = R R )

4. 3 E) IR R EY

A b ) S TR — B B X R A T, ot T ) Fik L A L A ) ) PR —
BE G EF SCER R A e RN LA AE B A — JeTT DA 53 A R .

(1) b /) 2 i B B ¥ 2 8 5% 2R B0 B ) 35

(2) WA Z B R AT,

XA R A AR A D7 K

1. Which of the following best describes the author’s method?

2. The author develops the thesis primarily by _

3. It can be assumed that the paragraph preceding (following) the passage most probably
discusses

4. The paragraph preceding (following) this one probably talks

5. In line , the word “it” can be substituted by

6. In paragraph “they” stands for (refers to)

7. The word “one” inline  could best be replaced by which of the following words?
8. In paragraph line _, the pronoun “ ” refers to

o T 2 A T | [ SRV PR — M R T v, — REFH AR AR
A R A 4 72 L REE B R JRYE B RSB R AR AN R EEEA
T 1B 5 2 1] (0 38 i B A | 7 TR0 R ) B R B Tl R R AR B 5 A e E A
HEX,

5. #EEHE

e T TSR 2 e A — N ERULAS B A B HE T R A5 PR R 5 B A B
S e TR PR 5, BB AR N — - RS B A, [E:7%) 131 Y N T P
b LS A R e O e T TR A AR JAguEE R ek FER R,
ATAR YR SO TR AL 9 17 B, R UR A A R DT A LR R RSB WL
1) 75 50A

1. The passage implies that

2. What’s suggested by the author?

3. We can infer from the passage that



4. The passage is intended to tell us that

5. It can be concluded from the passage that

6. The paragraph would most likely state

7. The author would most probably suggest that

8. The passage gives us the impression that

X R H R infer, imply, suggest, conclude, intend, refer to, state, discuss, deal with %5
RN FIWT 3R] AR, 25 A2 58— 25 I A B A R, R e, T R
B SRR BAESCE R R BT LUENTE R . BT RER — AN SULA BB S Se s a5, ]
AE R 23U B VR I o0 B SRR R A AT R R B S B B XU B
BB, TR R —R8, 2 A BB/ IR E B2 EmAEgy B2 5007 1
B AL A C SR £ A R HEWT,

6. LAY

FEAR R B SO B INBGE SC IS AU SO EE Y SEF BATRIRER A 2 s
KSR, ANREE, — B TR, A 0 AR , RS 850, 155 1WA 75 B FUBs (%
ST LA — S0 68 B A T S BR  SR , HLAS BE R BN WA R R HER B3 P B4R R
R RO SR A K IES ARIERN RO B AL R R B B SE  HO BEEA f BRE
BB B BRIE Y BT RGN HEEEAY B REEIER S,

SR H WL R e XA .

. The tone of this passage is

. The author’s view is

. Most probably the author intends to

. The author gives the impression that

. Most likely the author feels that

. Which of the following can best describe the author’s attitude towards ?

. The author suggests in the passage that

0 N N LA W

. What’s the mood of the passage ?

BRE B A B AR S L RA A FBE R RRNER, BRI xR
Y B8 R B A () W B S R R — S SR B A, B AN 3hiA] | BRI A AR R B A, e AT RE
REREF R RAHEH

=\ /\FIEERIS

1. ARIESCH B9 E XU REIE 15 X

TE— SO T V35 4o 2o N R L0 wf 17 41 5 B i) i LA GE St — 20 8 , LA [ 3] B
AT SCAA) B Ty 2K 1] 5 A R o 3 A 5% A R T ) 5 4 0 R SC R R IR] S R) I S ) 4



FHI WA 3R] L, X AR 7R B 28 % FH that is, i.e., which means, which refers to, that can be
defined as, it implies that, is known as, is called, is considered to be HERE, '
& Example 1

The earliest authentic works on European alchemy are those of the English monk Goger
Bacon and the German philosopher St. Albertus Magnus. In their treatises they maintained that
gold was the perfect metal and that inferior metals such as lead and mercury were removed
various degrees of imperfection from gold. They further asserted that these base metals could be
transmuted to gold by blending them with a substance even more perfect than gold. This elusive
substance was referred to as the “philosopher’s stone”.

The “philosopher’s stone” was

(A) lead which was mixed with gold
(B) an element which was never found
(C) another name for alchemy

(D) a base metal

(%2 %7 (B) | “philosopher’s stone” PR LR AR EA, BAESC B B R X R
R Y RN R SR, 5 —MAGE R AR TR AR, BRI (B),

& Example 2
Imagine a world in which children would be the rules and could decide not only the
outcome of each and every occurrence, but also dictate the very structure and form of the
environment. In this world, a child’s wildest thoughts would become reality limited only by the
extent of his or her imagination. While such a world might sound both fantastic and frightening,
at least from a logical, adult perspective, it does exist. What’s more, it has been in existence for
some time and is populated by hundreds of thousands of children who spend hours within its
boundaries experimenting and learning. This world is not real, at least not in the traditional
sense, but exists within a computer and is generated by an educational programming language
called LOGO.
LOGO is
(A) an education testing program
(B) a computer language
(C) an information dispenser
(D) an unreal world
(%% % (B)] LOGO S B A R R — AN B A B ARARE Bl TR E A
TN, HAT ARG E XMLLFIE . and is generated by an educational programming
language called LOGO.” (+++ -+ f 4 LOGO HE B RFIES -4E,) , B A R — ot
PUES , BOLEERE(B),



2. 1R _ETXRRIBENE X

MTE SCHE R AR BESR R, Al A B 1) B ORI SE 1Y . R R B Ia) i 20 ) o, 3l 24 9 1R
EE LA E XA BHRTNE X", HAETEDS EFXREMAXRFRZHA S
M50 3R 2 72 SO TE B “He e & L7
& Example 1

Dorothea Dix left home at an early age — of her own free will — to live with her
grandmother. At fourteen, Dorothea was teaching school at Worcester, Massachusetts. A short
time after she had begun teaching, she established a school for young girls in her grandparent’s
home. Stress was placed on moral character at Dorothea’s school, which she conducted until she
was thirty-three.

The word “Stress” could best be replaced by

(A) Emphasis (B) Strain
(C) Relative loudness (D) Physical pressure

VAR (A) ] B “stress” — TR A B 19 % SURBE, 5 (A), (B), (C), (D) A I AH K
BR AHNNZERE 2BV - 55301 A 4h B P KM A — 1AW , 2BV 14 5 B TR
BILEHR I — T2, RN FEBFAA IS HKBINE T — T &L 72K, KA
HIGFRF AR EMEMT, ZH VLR AR R ED 33 % .7 Strain F 7 “E7K”;Relative
loudness &0 “3 K7 " ; Physical pressure 3 0“5k E 17, ¥ 55 B Fp 22 A4 0 E 18 &
fTHX, T Emphasis Bk “i®iH”, 5 LT SCHFF , BME(A),

& Example 2
George Washington Carver showed that plant life was more than just food for animals and
humans. Carver’s first step was to analyze plant parts to find out what they were made of. He
then combined these simpler isolated substances with other substances to create new products.
In Line 2, the word “step” could best be replaced by
(A) footprint (B) action
(C) scale (D) stair
AN (B) ] step R—AN45 i), B S B FE A SR ¢ BB 0K BRI B TR S0k
H W - TRV - AR - R IRIEA R R RSB, RS RESNHEY
14 B3 A T8 B AR A A LRGSR At 5 4 O R 610 20 B ) TS LAt ) R LR Y
P A PUAS IR B footprint B R “BIER” ;action A “AT8h” ;scale R “REE” ;stair &
KBRS, ot s action“ 4780”5 B IR IR S, BUsE R (B) N E



3. RFERHINBMIF X

— S0 [ 1R S, BT DIARSE SRR PUB I R . BAT LU A SRR BZRAIRNER,
T4 A 1R v T SRR £ 9 4 PN AR LR D, LA S ) S
& Example

Most systems use synchronous satellites that stay in one position over the Earth.
Synchronous satellites are launched to an altitude of 22,300 miles. At this altitude, the satellite’s
revolution is synchronized with the Earth’s rotation. This means that the satellite completes one
orbit during the same length of time that the earth makes one rotation on its axis. Three of these
satellites, properly placed, can link stations in any two parts of the world.

It can be inferred from the passage that synchronous satellites are called “synchronous”
because

(A) they can synchronize three-way transmissions to all parts of the world

(B) each one rotates on its axis simultaneously with the Earth’s rotation

(C) their orbits are perfectly timed to coincide with the Earth’s rotation

(D) each one’s movements are synchronized to one-third of the speed of the earth

g (0) ] BRAEER R R TR Z BT AR R I R B A e X2 () B 2 K
A B R R, SO N AR R, RATW AT AR BIA R EX — B E TR SR
ekt [ 45, X Bk, RPN b 52 R — VOB 1T BT 6 i ] 15 b BRSe i B 5% — YA B ] AR
[, "%t P43, LA their orbits are perfectly timed to coincide with the Earth’s rotation
(T BN 5 Mo BR ) e 7 A 1A b SE AR5 B R 30—, SERR b B AR AR T A — A
JLTE 7T AR fE AT LASL B2 2 53R

4. TRIECE R A 2B TR X

V2 A B 7 5 4 S T P 3 0 R R At - S5 A R B 2 B0 LA U 4 )
HOTEWE , 2 A AT LIS F N — AR 3 B AR B 7 A 8 R A R . X ARSI2E A like, as, for
example, for instance, such as, in such case %7 i& BT 5 F &,
& Example

As many as one thousand years ago in the Southwest, the Hopi and Zuni tribes of North
America were building with adobe-sun-baked brick plastered with mud. Their homes looked
remarkably like modern apartment houses. Some were four stories high and contained quarters
for perhaps a thousand people, along with storerooms for grain and other goods. These buildings
were usually put up against cliffs, both to make construction easier and for defense against
enemies. They were really villages in themselves, as later Spanish explorers must have realized
since they called them “pueblos” (P4 ¥t if .F4#H) , which is Spanish for town.

The people of the pueblos raised what are called “the three sisters” — corn, beans and

squash. They made excellent pottery and wove marvellous baskets, some so fine that they could



10

hold water. The author uses the phrase “the three sisters” in the passage to refer to

(A) Hopi women (B) Family members

(C) Important crops (D) Main ceremonies

CEEN(C) ] PR B “the three sisters” /& — F LI, i TE & IR B 3647 T %
BOFERHEES T =MIEWN AT . EX G FMBIK, 7L “three sisters” i &5 “
BHIREY”  SERMER (C),

5. {RIBEXTLL LR ASIE B IE M 18 X

Xt Ho 5 HBOR PR S AR 1k T — U0 I AR R — 1 S s — b X, X T
TR AN 208 B X 5 LA T S T A AN S 1 B (R SRR AR Ak, 8
like, as, but, yet, while, however, despite, in spite of, unlike %5 i) % # , & B & and 3% £ 5 4
X L HIE S |
¢ Example 1

Herons nest and roost in flocks, but hunt for food alone.

The word “flocks” in the sentence most probably means

(A) cycles (B) groups
(C) threes (D) dens

AENB) | AME R T BB R AN BRI R, But AR N E A
R TR E XA X R, in flocks R4l 1B VIR B &1 “nest and roost” ,alone 4 Bl i
YEARTEE i “hunt” , alone B0 “BAlih” | 5 flocks TE MUY HE |, BiZ 1) W 122 3l « R 7 76 7Y
LI cycles B0 “JA R ;06357 ; groups B0 “Bf 417 ;threes BN “= M A (—4) 7;
dens BN/, E”, BAR , groups 5 alone ¥4 ALEE A AT HE G Z , R (B) WIEFIE R,

& Example 2

The long-eared owl is found only in North America; the short-eared owl is ubiquitous. In the
sentence the word ubiquitous is most probably means

(A) nocturnal (B) endangered

(C) widespread (D) omnivorous

CEE RO AmBEREM L AL KA RER B, T H A Sk A B A AT KA
I3 A1 R )5 43 IF 89435 LA K long-eared owl 1 short-eared owl ik T B A9 XF X & . Wi AT
AR only in North America AR ATIRAR T #bHE 5 B A9 = BRYE , Bt AFRA TN R A 5
b P 915 BB )R R A AR 6 ST 3R] . AR P S BETH P nocturnal B8 “ BLHY 7 ;endangered R “3Z B
& FE 1" ;widespread B 4“3 1) ;omnivorous B A “ZEM”, (C)T 5 LRGSR, RHIE
WER,

6. RIEBEFIRIFME X
Xof T e 3 P B A9 A A FEAE TT LUIE A Y I B B TR RO R SC i 4n iz



A IES LA R EFOE R g Bk B E R RO SRR R

& Example 1

When carbon is added to iron in the proper proportions, the result is steel. The word
“proportions” in the sentence most probably means
(A) container (B) sequence
(C) laboratories (D) amounts
(%% (D) | 3X EL proportions 444 1) BUE A, Wi 7E MU BT, container Fl sequence
S BB R laboratories Fl amounts & HUK R, %4 T LLIE F 4 1Al 80 L HOX — R R
S (A)F1(B)HERR . 7E(C) (D) H,laboratories F RS E” amounts BN B, BAL”,
ifii proportions &4 “Hr 45 , K/, Hefil” , B (D) EFEHE,

& Example 2
Tranquilizers are often used in the treatment of tension.
The word “tension” in the sentence is most closely related in meaning with
(A) stress (B) headaches
(C) broken bones (D) muscle spasms
(% dy (A) | 4417 tension fE R R IK” 2 IR BN AR AT EOA 1A BOR BB AN S LI
broken bones # muscle spasms 334 ] 5 4 1 i) = HOE X T HERR o stress B4R IK”, [l
Wl BB R, 5 tension 7554 ¥UP L HIT S EIYHAT, SN IE(A).

& Example 3
Current hiring policies in the United States seek to provide equal employment opportunities
for women and minority groups. The word “provide” in the sentence most probably means
(A) furnish (B) demand
(C) confirm (D) continue
% (A) ] provide TEZEIE 14 [ 2 35 AL I X — B provide sb. with sth.5X provide sth.
for sh., TEA B # A provide sth. for sb., PUASET R, R4 furnish AT ARG AR5 provide [AlFERY
PEHIE X furnish sb. with sth., [AIB A R F  furnish =R iRt MR 75 provide A X, T
demand & H“FEE TR ;confirm N “HtifE JESL” ;continue Bhefigkse”  ¥5 provide &
SURRE #8358 (A) o

7 fRIBR AR FALE R X

< V- R SR 150 B 1R) S, T I 7 3 U R 7 T S IR) 3] X  JIT A% A T A B 1 R 6 3
5 S, B RS TS S ST S, AT LA or, that is, in other words ZF K&
& Example

Alaska boasts of several climates due to its lofty mountains, warm ocean currents, and

1



